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Examples

1. Salt bridge Is used because it_________.

Watch Video Solution

2. The standard Hydrogen electrode potential is zero, because

A. It has been measured accurately.

B. it has been defined that way.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RwwWcp3FOdgR
https://dl.doubtnut.com/l/_U1iD5A1mCJBT


C. there Is no potential difference between electrode and solution.

D. none of these

Answer:

Watch Video Solution

3. It is Impossible to measure the actual voltage of any half cell by itself”.

State whether this statement Is true or false

Watch Video Solution

4. Corrosion Is basically

A. Qlycosidic interaction

B. Reaction with water

C. Presence of heavy metal

D. Electrochemical reactions

https://dl.doubtnut.com/l/_U1iD5A1mCJBT
https://dl.doubtnut.com/l/_QHnGDPiBx3sl
https://dl.doubtnut.com/l/_L0wg6borOJ01


Answer:

Watch Video Solution

5. Which is not a primary cell?

A. Leclanche cell

B. Mercury cell

C. Lead storage cell

D. None of these

Answer:

Watch Video Solution

6. During the dischargeIn the case of lead storage batteries density of

sulphuric acid __________.

Watch Video Solution

https://dl.doubtnut.com/l/_L0wg6borOJ01
https://dl.doubtnut.com/l/_f0W4XS97Ioca
https://dl.doubtnut.com/l/_4vLsdc5Fl3fK


7. When 1 coulomb of charge is passed through electrolyte solution, then

the mass deposited is equal to

A. Electrochemical equivalent

B. Chemical equivalent

C. Atomic weight

D. Equivalent weight

Answer:

Watch Video Solution

8. Electrolysis of aqueous HCI solution produces

A.  gas at the anode

B.  gas at the cathode

C.  gas at the anode

H2

H2

Cl2

https://dl.doubtnut.com/l/_4vLsdc5Fl3fK
https://dl.doubtnut.com/l/_FUMa9re5vyMd
https://dl.doubtnut.com/l/_fWIsuM6jtsXr


D.  gas at the cathode

Answer:

Watch Video Solution

Cl2

9. The conductivity of strong electrolyte Is

A. Decrease on dilution

B. Does not change with dilution

C. Increase on dilution

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_fWIsuM6jtsXr
https://dl.doubtnut.com/l/_ZzJLK6mKs1BV


10. Which of the following is the best reducing agent In aqueous solution

?

A. Li

B. Cs

C. Rb

D. K

Answer:

Watch Video Solution

11. Observe the relationship between the first two terms and fill in the

blanks Strong electrolyte : NaOH,Weak electrolyte ___.

Watch Video Solution

https://dl.doubtnut.com/l/_6VzhGfAuoITe
https://dl.doubtnut.com/l/_WZBiP2hmSIPB


12. Represent the galvanic cell in which the reaction Is:

Watch Video Solution

Zn(s) + Cu2+ (aq) → Zn2+ (aq) + Cu(s)

13. ______ is the ratio of distance between electrodes and area of cross -

section.

Watch Video Solution

14. Choose the correctly matched pair.

A. Nickel-cadmium cell secondary cell

B. Lead- storage cell : Primary cell

C. Daniel cell : Secondary cell

D. 

Answer:

https://dl.doubtnut.com/l/_2pZVRXhjx8Kj
https://dl.doubtnut.com/l/_fCG9ug5EX3KA
https://dl.doubtnut.com/l/_2TFNHsh5ZT0Y


Watch Video Solution

15. _______is the process in which metal is .oxidised by loss of electrons

Watch Video Solution

16. Write the relationship between Gibb's free energy and EMF of cell is.

Watch Video Solution

17. Name the process of coating zinc over Iron so as to protect It from

rusting

Watch Video Solution

18. What type of a battery Is lead storage battery ?

Watch Video Solution

https://dl.doubtnut.com/l/_2TFNHsh5ZT0Y
https://dl.doubtnut.com/l/_nRGQbYu1yI70
https://dl.doubtnut.com/l/_OHpu8CSbY6v8
https://dl.doubtnut.com/l/_SJKagT30Psfx
https://dl.doubtnut.com/l/_Ut1EKOKTlaxX


19. In lead storage battery_____as cathode.

Watch Video Solution

20. ________cells makes use of fuel but does not create pollution.

Watch Video Solution

21. Identify the anode and cathode In a dry cell.

Watch Video Solution

22. Some standard electrode potentials at 298K are given below.

,  , 

.Write the order of metals in the decreasing order

of their reducing power with proper justification.

Cu2+ /Cu = 0.34V Ca2+ /Ca = − 2.87V Ag + /Ag = 0.80V

Na+ /Na = − 2.71

https://dl.doubtnut.com/l/_Ut1EKOKTlaxX
https://dl.doubtnut.com/l/_rtNObHTH3V9Y
https://dl.doubtnut.com/l/_hVJFefzybLN8
https://dl.doubtnut.com/l/_fgDIgQmfLulY
https://dl.doubtnut.com/l/_eN13uL8F72Sz


Watch Video Solution

23.  is a weak electrolyte whose  can be found using 

of , NaCI and NaOH or by using  of , , and

KOH. Similarly of weak ele-ctrolyte  can be found using

strong electrolytes. Give two sets of electrolytes which can be used to

find  of .

Watch Video Solution

NH4OH λ ∘ m λ ∘ m

NH4CI λ ∘ m NH4NO3 KNO3

CH3COOH

λ ∘ m CH3COOH

24.  is a weak electrolyte whose  can be found using 

of , NaCI and NaOH or by using  of , , and

KOH. Similarly of weak ele-ctrolyte  can be found using

strong electrolytes. Give two sets of electrolytes which can be used to

find  of .

Watch Video Solution

NH4OH λ ∘ m λ ∘ m

NH4CI λ ∘ m NH4NO3 KNO3

CH3COOH

λ ∘ m CH3COOH

https://dl.doubtnut.com/l/_eN13uL8F72Sz
https://dl.doubtnut.com/l/_N6GufTXAY26S
https://dl.doubtnut.com/l/_oFcxUrcmxLiU


25. Predict the product of electrolysis In each of the following: An

aqueous solution of copper sulphate with platinum e!ectrodes.

Watch Video Solution

26. Predict the product of electrolysis In each of the following: An

aqueous solution of sodium chloride.

Watch Video Solution

27. Conductivity of ionic solutions are measured by using conductivity cell

In Wheatstone bridge arrangement: What do you meant by cell constant?

Watch Video Solution

28. Conductivity of ionic solutions are measured by using conductivity cell

In Wheatstone bridge arrangement:How is cell constant related to

https://dl.doubtnut.com/l/_K4U5GYYiiBrB
https://dl.doubtnut.com/l/_29A8UrNSdChD
https://dl.doubtnut.com/l/_ShJ3esNr4gRA
https://dl.doubtnut.com/l/_hIiqCxqfoj3Y


conductivity?

Watch Video Solution

29. Conductance of an electrolyte depends upon temperature of

electrolyte and concentration of the electrolytes. Classify the following

into strong and weak electrolyte. KOH, , NaCI, .

Watch Video Solution

CH3COOH NH4OH

30. Conductance of an electrolyte depends upon temperature of

electrolyte and concentration of the electrolytes. What happens to the

molar conductivity of an electrolyte solution when diluted with water?

Justify your answer.

Watch Video Solution

31. Why does the voltage from mercury cell becomes constant?

https://dl.doubtnut.com/l/_hIiqCxqfoj3Y
https://dl.doubtnut.com/l/_tILIuXE9NJ2o
https://dl.doubtnut.com/l/_t8LtyRDegG6w
https://dl.doubtnut.com/l/_UD2xaWLThdXJ


Watch Video Solution

32. In Appollo space programme the fuel cells are used not only for

electric power but also for prepare  for drinking. What do-you

understand by a fuel cell?
 What are the advantages of fuel cells over

ordinary cells?

Watch Video Solution

H2O

33. A small Industry produces Al metal by the electrolysis of_______.

Watch Video Solution

34. Conductivity of 0.00241 M acetic acid Is  .

Calculate Its molar conductivity. If  for acetic acid Is  

, what Is Its dissociation constant?

Watch Video Solution

7.896 × 10−5 Scm−1

λ ∘ m 390.5Scm2

mol−1

https://dl.doubtnut.com/l/_UD2xaWLThdXJ
https://dl.doubtnut.com/l/_GPTCV76MDtcc
https://dl.doubtnut.com/l/_LAaO50unT6AF
https://dl.doubtnut.com/l/_n8k4rtDtfSUd


35. Why does the voltage from mercury cell becomes constant?

Watch Video Solution

36. Two metals P and Q have reduction potentials of -0.44 V and +0.77 V

respectively. Which metal can liberate hydrogen from dilute acids ?

Watch Video Solution

37. Scientists suggest the use of fuel cells as an alternative to

conventional fossil fuels.Give the anodic and cathodic reactions of

 fuel cell.

Watch Video Solution

H2 − O2

38. Scientists suggest the use of fuel cells as an alternative to

conventional fossil fuels.Draw and label the diagram of this cell.

https://dl.doubtnut.com/l/_HK87hhH1IvYr
https://dl.doubtnut.com/l/_sAoMh3au0zOP
https://dl.doubtnut.com/l/_q1JwgyR5hwjv
https://dl.doubtnut.com/l/_xR4s3rqd8gwA


Watch Video Solution

39. The cell reaction for a galvanic cellIs 

.Represent that galvanic cell.

Watch Video Solution

Nis + 2Ag +
aq → Ni2+aq + 2Ags

40. Calculate the emf of the cell at 298K

.

Watch Video Solution

E0
NI 2+ /NI

is − 0.25V and E0
Ag + /Ag

is + 0.80V

41. Ramu found that an iron sample in contact with sand is

corroded.What is corrosion?

Watch Video Solution

https://dl.doubtnut.com/l/_xR4s3rqd8gwA
https://dl.doubtnut.com/l/_9F20dAyPktM6
https://dl.doubtnut.com/l/_KfjnO3leI4Gu
https://dl.doubtnut.com/l/_uPveJJ3eRqDs


42. Ramu found that an iron sample in contact with sand is corroded. It is

found that alkaline medium inhibits the rusting of iron. Explaln.

Watch Video Solution

43. Write two Important applications of electrochemical series.

Watch Video Solution

44. Write the anodic and cathodic reactions when SHE is used as a

reference electrode.

Watch Video Solution

45. Iron Is galvanised for protecting It from rusting.Galvanised Iron is not

used for making food containers. Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_UR9TyMxk6EhL
https://dl.doubtnut.com/l/_gVtwMzmnUDre
https://dl.doubtnut.com/l/_Uu2ETJEXHpkL
https://dl.doubtnut.com/l/_r37JG5dmxtrB


46. Iron can be protected by coating with copper or tin. But if the coating

is brokèn, iron corrodes faster than it dòes in the absence of Cu or tin.

Why?

Watch Video Solution

47. A student in a view to obatin sodium metal at the cathode, carried out

the electrolysis of NaCI solution. He did not get sodium at the cathode,

instead he got two gases at the electrodes. _________ gas produced at each

electrode.

Watch Video Solution

48. A student in a view to obatin sodium metal at the cathode, carried out

the electrolysis of NaCI solution. He did not get sodium at the cathode,

instead he got two gases at the electrodes.Why he did not get Sodium?

Watch Video Solution

https://dl.doubtnut.com/l/_r37JG5dmxtrB
https://dl.doubtnut.com/l/_PMgHzTUCtsIk
https://dl.doubtnut.com/l/_vnu9pSow0H2t
https://dl.doubtnut.com/l/_6v2IwlI2paNn


49. A car battery Is made of lead plate dipping Into sulphuric acid (Lead

Accumulator). It can be recharged.Is there any change in the

concentratlon of  during discharging and recharging the cell?

Watch Video Solution

H2SO4

50. A car battery Is made of lead plate dipping Into sulphuric acid (Lead

Accumulator). It can be recharged. When the battery is used a reaction

takes place. Identify the change to this reaction when the battery is

recharged and represent the reactions at the anode of the cell.

Watch Video Solution

51. Nernst equation describes the variation of electrode potential with

concentration and temperature. Write cell reaction, overall reaction and

calculate e.m.f at  for the cell. Also write Nernst equation for the cell25C 0

https://dl.doubtnut.com/l/_6v2IwlI2paNn
https://dl.doubtnut.com/l/_gxLOvXwadshE
https://dl.doubtnut.com/l/_LJYiiQ62WJfP
https://dl.doubtnut.com/l/_4CU5peLL95zM


potential.  Given  

.

Watch Video Solution

Mg/Mg2+

10− 3M
/Ag +

0.1M /Ag E0
Mg2+ /Mg

= 2.37V

E0
Ag + /Mg

= 0.8V

52. State the Faraday's laws of electrolysis

Watch Video Solution

53. Calculate the quantity of electricity required to deposit 0.09 g of

Aluminium during the following electrode reaction. .

Watch Video Solution

Al3+ + 3e− → Al

54. Calculate the standard cell potentials of galvanic cell. Also calculate

 and equilibrium constant of the following cell, reaction. 

.

ΔG0

Fe2+ (aq) + Ag + (aq) → Fe3+ (aq) + Ag(s)

E0Ag + IAg = 0.80V , E0Fe3+ IFe2+ = 0.77V

https://dl.doubtnut.com/l/_4CU5peLL95zM
https://dl.doubtnut.com/l/_vpSklRg5c3RL
https://dl.doubtnut.com/l/_wMZqf81uQrLL
https://dl.doubtnut.com/l/_o4ZUSbqBBXWu


Watch Video Solution

55. Is the effect of dilution on the molar conductance of strong and weak

electrolytes the same?

Watch Video Solution

56. Kohlrausch’s law Is useful for determining  of weak electrolytes.The

molar conductance at infinite dilution for , HCI and NaCI are

91, 426.2 and 126.5   respectively at 298K. Calculate the

molar conductance of acetic add at infinite dilution.

Watch Video Solution

λ ∘
m

CH3COONa

ohm−1 cm2moI −1

57. Kohlrausch’s law Is useful for determining  of weak electrolytes.The

molar conductance of 0.3 M acetic acid Is .

Calculate its degree of dissociation if molar conductance at infinite

dilution is .

λ0
m

176.6ohm−1cm2mol−1

384ohm−1cm2mol−1

https://dl.doubtnut.com/l/_o4ZUSbqBBXWu
https://dl.doubtnut.com/l/_0tATnS7xMyXS
https://dl.doubtnut.com/l/_RBkCwNxit6oo
https://dl.doubtnut.com/l/_IbMLylLKihmh


Watch Video Solution

58. Galvanic cells are classified Into primary and secondary cell:Write any

twodifferences between primary cell and secondary cell.

Watch Video Solution

59. Galvanic cells are classified Into primary and secondary cell:What is a

fuel cell?

Watch Video Solution

60. Daniell cell is a galvanic cell made of zinc and copper electrodes. 

write the overall cell reaction in  fuel cell.

Watch Video Solution

H2 − O2

https://dl.doubtnut.com/l/_IbMLylLKihmh
https://dl.doubtnut.com/l/_oRtuIA23OkVk
https://dl.doubtnut.com/l/_G68Zt132BMY3
https://dl.doubtnut.com/l/_nXx9LiX3f3hx


61. Conductance (G), conductivity (K) and molar conductivity  are

terms used in electrolytic conduction.Write any two factors on which

conductivity depends on

Watch Video Solution

(Δm)

62. Conductance(G)conductivity(K)and molar conductivity are terms

used in electrolytic conduction.

How do conductivity and molar conductivity vary with concentration of

electrolytic solution?

Watch Video Solution

Λm

63. Write any one difference between primary cell and secondary cell.

Watch Video Solution

https://dl.doubtnut.com/l/_kv7NGcJUen9U
https://dl.doubtnut.com/l/_KHKtLAs1sESj
https://dl.doubtnut.com/l/_LeFuAB8rOJkd


64. Fuel cells are special types of galvanic cells.What are galvanic cells?

Watch Video Solution

65. Fuel cells are special type of galvanic cells. Write any two advantages

of fuel cells

Watch Video Solution

66. Fuel cells are special type of galvanic cells. Write the electrode

reactions is  fuel cell.

Watch Video Solution

H2 − O2

67. The standard electrode potentials of some electrodes are given below:

   E0
Zn2+ ,Zn

= − 0.76V ECu2+ ^ 0 ,Cu = + 0.34V E0
Ag + ,Ag

= + 0.80V

https://dl.doubtnut.com/l/_6ptTkh63qKF5
https://dl.doubtnut.com/l/_Ge7vWjigBud8
https://dl.doubtnut.com/l/_hffFYQcqviD3
https://dl.doubtnut.com/l/_VbL5CKupA73c


What Is the reaction taking place at SHE when it Is

connected to electrode to form a galvanic cell?

Watch Video Solution

E0
H + ,H

= 0V

Ag/Ag +

68. The standard electrode potentials of some electrodes are given below:

   

.find the value of (equillibrium constant) in the daniel

cell at 298k.

Watch Video Solution

E0
Zn2+ ,Zn

= − 0.76V ECu2+ ^ 0 ,Cu = + 0.34V E0
Ag + ,Ag

= + 0.80V

0 = 0V
EH + ,H

^
Kc

69. Innumerable number of galvanic cells can be constructed on the

pattern of Daneill cell by taking combination of different half cells. What

is galvanic cells?

Watch Video Solution

https://dl.doubtnut.com/l/_VbL5CKupA73c
https://dl.doubtnut.com/l/_TRn4muNVZ7CV
https://dl.doubtnut.com/l/_JpYrKzxHNRx2


70. Innumerable number of galvanic cells can be constructed on the

pattern of Daniel cell by taking combination of different half-cells.Name

the anode and cathode of the Daniel cell.

Watch Video Solution

71. Innumerable number of galvanic cells can be constructed on the

pattern of Daneill cell by taking combination of different half cells. Write

the name of the half represented by Pt(s)/H_2(g)/ H^+(aq)

Watch Video Solution

72. Innumerable number of galvanic cells can be constructed on the

pattern of Daneill cell by taking combination of different half cells. What

is the potential of the above half cell at all temperatures?

Watch Video Solution

https://dl.doubtnut.com/l/_gR6swqt31spz
https://dl.doubtnut.com/l/_2ViXHwtP4tqM
https://dl.doubtnut.com/l/_lho1tJceiDY1
https://dl.doubtnut.com/l/_PYWsQKiDvkXC


73. Depict the galvanic ceil In which the reaction,

take place.

Watch Video Solution

ZnS + 2Ag +
aq → Zn2+

aq + 2AgS

74. Depict the galvanic ceil In which the reaction,

take place.Which of the electrodes is

negatively charged?

Watch Video Solution

ZnS + 2Ag +
aq → Zn2+

aq + 2AgS

75. Depict the galvanic ceil In which the reaction,

take place.The carriers of the current in

the cell.

Watch Video Solution

ZnS + 2Ag +
aq → Zn2+

aq + 2AgS

https://dl.doubtnut.com/l/_PYWsQKiDvkXC
https://dl.doubtnut.com/l/_eh4zTO3vIH8r
https://dl.doubtnut.com/l/_QRXXy8DpflWQ


76. Depict the galvanic ceil In which the reaction,

take place.Individual reaction at each

electrode.

Watch Video Solution

ZnS + 2Ag +
aq → Zn2+

aq + 2AgS

77. How much charge is required for the following reductions:
 i. 1 mol of

 to  ?
ii.  of  to 
1 ~mol ot MnO_4^- to Mn^2+

Watch Video Solution

Al3 + Al 1~mol Cu2 ⋅ Cu?

78. How much electricity is required in coulomb for the oxidation of
 i. 1

mol of  to 
ii.  of  to 

Watch Video Solution

H2O O2 1~mol FeO Fe2O3

https://dl.doubtnut.com/l/_7c56zZdvk5q5
https://dl.doubtnut.com/l/_sWvMW8AAoCzW
https://dl.doubtnut.com/l/_hR8aC68qpoiR


79. Three electrolytic cells  containing solutions of 

 and , respectively are connected in series. A

steady current of  amperes was passed through them until  of

silver deposited at the cathode of cell
B. How long did the current flow?

What mass of copper and zinc were deposited?

Watch Video Solution

A, B, C

ZnSO4, AgNO3 CuSO4

1.5 1.45g

80. Predict the products of electrolysis In each of the following:An

aqueous solution of  with silver.

Watch Video Solution

AgNO3

81. Predict the products of electrolysis In each of the following:An -

aqueous solution of withplatinum electrodes

Watch Video Solution

AgNO3

https://dl.doubtnut.com/l/_cwHWdjNt44Ib
https://dl.doubtnut.com/l/_qTiSndfxv9Jq
https://dl.doubtnut.com/l/_qpp8y2gVgmfi
https://dl.doubtnut.com/l/_tYrdEDSZMfDu


82. Predict the products of electrolysis In each of the following:A dilute

solution of  with platinum electrodes.

Watch Video Solution

H2SO4

83. Predict the products of electrolysis In each of the following: An

aqueous solution of  with platinum electrodes.

Watch Video Solution

CuCI2

84. Given the standard electrode potentials 

Arrange them in increasing order of reducing power.

Watch Video Solution

K + /K = − 2.93V , Ag + /Ag = + 0.8V , Hg2+ /Hg = 0.79V , Mg2+ /M

85. Write the Nernst equation and emf of the following cells at 298 K.

.Mgs /Mg2+ (0.001M)IICu(2 + )(0.001M) /Cus, E0cell = 2.71V

https://dl.doubtnut.com/l/_tYrdEDSZMfDu
https://dl.doubtnut.com/l/_W6gWTCadOn3p
https://dl.doubtnut.com/l/_k7Nt5Ecgznf6
https://dl.doubtnut.com/l/_8rPasJLJgvzm


Watch Video Solution

86. Write the Nernst equation and emf of the following cells at 298 K.

.

Watch Video Solution

Sns /Sn2+ (0.050M)IIH + (0.02M) /H2(g)(1¯)1Pt(S), E0Sn2+ /Sn = −

87. Arrange the following in the order in which they displace each other

from the solution of their salts. Al, Cu, Fe,Mg and Zn

Watch Video Solution

88. The resistance of a conductivity cell containing 

solution at  is . What is the cell constant if conductivity.of 

 KCl solution at  is  

Watch Video Solution

0.001M ∘ KCl

298~K 1500Ω

0.001M 298K 0.146 × 10−3 Scm−1

https://dl.doubtnut.com/l/_8rPasJLJgvzm
https://dl.doubtnut.com/l/_B9jQSyyH1U6d
https://dl.doubtnut.com/l/_9n5zxNjhz0wF
https://dl.doubtnut.com/l/_u04kSqrdXvjl


89. In thebutton cells widely used in watches and other devices the

following reaction takes place:

Determine  and  for the reaction.

Watch Video Solution

Zn(s) + Ag2O(s) + H2O(I) − − Zn2+ (aq) + 2Ag(s) + 2OH − (aq)

ΔrG
0 E0

90. The limiting molar conductivity of weak electrolyte can be calculated

by using the law.

A. Faraday’s law

B. Kohlrausch law

C. Henry’s law

D. Raouit’s law

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_u04kSqrdXvjl
https://dl.doubtnut.com/l/_A5y2v3fWfynF
https://dl.doubtnut.com/l/_TMfR1S7fEIOS


91. Daniellcell converts the chemical energy liberated during the redox

reaction to electrical energy.

.Identify the anode and cathode in Daniell cell.

Watch Video Solution

Zns + Cu2+
aq → Zn2+

aq + Cus, E0
cell

= 1.1V

92. Daniellcell converts the chemical energy liberated during the redox

reaction to electrical energy.

.Calculatethe standard Gibbs energy ( ) for the reaction.

Watch Video Solution

Zns + Cu2+
aq → Zn2+

aq + Cus, E0
cell

= 1.1V

ΔrG
0

93. Daniellcell converts the chemical energy liberated during the redox

reaction to electrical energy.

.Give the Nernst equation of above cell reaction.

Watch Video Solution

Zns + Cu2+
aq → Zn2+

aq + Cus, E0
cell

= 1.1V

https://dl.doubtnut.com/l/_TMfR1S7fEIOS
https://dl.doubtnut.com/l/_iy0a1yn6Y0jz
https://dl.doubtnut.com/l/_CjGJF1Z88hc2
https://dl.doubtnut.com/l/_m4W37pOJ6ryt


94. Diagrammatlcally represent fuel celland write thehalf ceil

reactions taking place in this cell.

Watch Video Solution

H2 − O2

95. Define minimum boiling azeotropes with example.

Watch Video Solution

96. Write the anode and cathode reactions occur'in the operation of lead

storage battery. Mention the electrolyte used In the battery.

Watch Video Solution

97. What are primary batteries?

Watch Video Solution

https://dl.doubtnut.com/l/_I6qZq7slcIof
https://dl.doubtnut.com/l/_HrP7GoPSNRqr
https://dl.doubtnut.com/l/_QHfkwzx86w62
https://dl.doubtnut.com/l/_6IrsGT2wbr8i
https://dl.doubtnut.com/l/_Qn6FPu9lY5b1


98. The cell potential of mercury cell Is 1.35 V, and remain constant during

Its life. Give reason.

Watch Video Solution

99. Fuel cells are special type of galvanic cells. Write the electrode

reactions is  fuel cell.

Watch Video Solution

H2 − O2

100. Represent the galvanic cell based on the cell reaction given below:

Watch Video Solution

Cu + 2Ag + → Cu2+ + 2Ag

101. for NaCl,HCL and NaAc are 126.4,425.9and

respectively. Calculate for Hac.

W h Vid S l i

λ0
m 91.0Scm2mol−1

∧0
m

https://dl.doubtnut.com/l/_Qn6FPu9lY5b1
https://dl.doubtnut.com/l/_2TbRlLMjbuSF
https://dl.doubtnut.com/l/_pPvc1ruuhG2l
https://dl.doubtnut.com/l/_3YlVwjhEpGzr


Watch Video Solution

102. Which of the following is a secondary cell?

A. Dry cell

B. Leclanche cell

C. Mercury ceil

D. None of these

Answer:

Watch Video Solution

103. What Is the relationship between resistance and conductance?

Watch Video Solution

https://dl.doubtnut.com/l/_3YlVwjhEpGzr
https://dl.doubtnut.com/l/_HoMVnEwxrpAX
https://dl.doubtnut.com/l/_XsliMvlJn43e


104. One of the fuel cell uses the reaction of hydrogen and oxygen to

form water. Write down the cell reaction taking place in the anode and

cathode of the fuel cell.

Watch Video Solution

105. Your are supplied with the following substances: 

copper rod, Zinc rod, Salt bridge, two glass beakers, a piece of wire,

 solution, solution 


Represent the cell made using the above materials.

Watch Video Solution

1M, CuSO4 1MZnSO4

106. Your are supplied with the following substances: 

copper rod, Zinc rod, Salt bridge, two glass beakers, a piece of wire,

 solution,1M ZnSO4 solution 


Write Nernst equation for the above cell.

Watch Video Solution

1M, CuSO4

https://dl.doubtnut.com/l/_1ycHKeBf1VjN
https://dl.doubtnut.com/l/_rq7guuHrtlOv
https://dl.doubtnut.com/l/_1LZIfUEtYeN8


Watch Video Solution

107. Your are supplied with the following substances: 

copper rod, Zinc rod, Salt bridge, two glass beakers, a piece of wire,

 solution ,1M znso4 solution


Calculate the standard EMF of the cell if 

`E0

Watch Video Solution

1M, CuSO4

108. The cell reaction in Daniell cell is

 and Nernst equation for

single electrode potential for general electrode reaction 

 is log

 


Derive Nernst equation for Daniell cell

Watch Video Solution

Zn(s) + Cu2+ (aq) → Zn2+ (aq) + Cu(s)

M + (aq) + ne− → M(s) EM n+ /M = E ∘
M n+ /M

−
2.303RT

nF
[M]

[M n+ ]

https://dl.doubtnut.com/l/_1LZIfUEtYeN8
https://dl.doubtnut.com/l/_fqm4JEvhxCyD
https://dl.doubtnut.com/l/_YcZINNXXnFuX
https://dl.doubtnut.com/l/_ZfMOK6bFR3xY


109. Write any one difference between primary cell and secondary cell.

Watch Video Solution

110. Galvanic cell Is a device which converts chemical energy to electrical

energy.Give the diagrammatic representation of the cell

. Write the half-cell reactions take place in

this cell.

Watch Video Solution

Mg/MgSO4IICuSO4 /Cu

111. Galvanic cell Is a device which converts chemical energy to electrical

energy.Explain the mechanism of corrosion using electro chemical theory.

Watch Video Solution

112. Galvanic cell Is a device which converts chemical energy to electrical

energy.How many coulombs of electricity are required for the reduction

https://dl.doubtnut.com/l/_ZfMOK6bFR3xY
https://dl.doubtnut.com/l/_Dbs8GDKyZdfV
https://dl.doubtnut.com/l/_7FSouckbjn4R
https://dl.doubtnut.com/l/_WgSDBC2L0TJi


of 1mol of  to ?

Watch Video Solution

MnO
−
4 Mn2+

113. With decrease in concentration of an electrolytic solution,

conductivity (K) decreases and molar conductivity ( ) increases.Write

the equation showing the relationship between conductivity and molar

conductivity.

Watch Video Solution

Δm

114. With decrease in concentration of an electrolytic solution,

conductivity (K) decreases and molar conductivity ( ) increases. How

will you account for the Increase In molar conductivity with decrease in

concentration?

Watch Video Solution

Δm

https://dl.doubtnut.com/l/_WgSDBC2L0TJi
https://dl.doubtnut.com/l/_AxZlwjU0O74j
https://dl.doubtnut.com/l/_lhBPO3sXzY57


115. With decreases in concentration of an electrolytic solution ,

Conductivity (K) decreases and molar conductivity increases. 


Limiting molar conductivity of a strong electrolyte can be

determined by graphical extrapolation method, Suggest a method for the

determination of limiting molar conductivity of a weak electrolyte, taking

acetic acid  as example .

Watch Video Solution

( ∧m )

( ∧∘
m )

(CH3COOH)

116. Daniell cell is a galvanic cell made of zinc and copper electrodes. 

Write anode and cathode reactions in Daniel cell

Watch Video Solution

117. The cell reaction in Daniell cell is

 and Nernst equation for

single electrode potential for general electrode reaction 

 is log

Zn(s) + Cu2+ (aq) → Zn2+ (aq) + Cu(s)

M + (aq) + ne− → M(s) EM n+ /M = E ∘
M n+ /M

−
2.303RT

nF

https://dl.doubtnut.com/l/_WeRxYIy6nfJt
https://dl.doubtnut.com/l/_f9iTtLhzY9Ux
https://dl.doubtnut.com/l/_BEdIistFu579


 


Derive Nernst equation for Daniell cell

Watch Video Solution

[M]

[M n+ ]

118. Write any one difference between primary cell and secondary cell.

Watch Video Solution

119. Galvanic cells are classified Into primary and secondary cell:What is a

fuel cell?

Watch Video Solution

120. Daniell cell is a galvanic cell made of zinc and copper electrodes. 

write the overall cell reaction in  fuel cell.

Watch Video Solution

H2 − O2

https://dl.doubtnut.com/l/_BEdIistFu579
https://dl.doubtnut.com/l/_JwjGqg06xq2J
https://dl.doubtnut.com/l/_neIKuMdehbAJ
https://dl.doubtnut.com/l/_BCTLVyRVckfZ


121. Innumerable number of galvanic cells can be constructed on the

pattern of Daneill cell by taking combination of different half cells. What

is galvanic cells?

Watch Video Solution

122. Innumerable number of galvanic cells can be constructed on the

pattern of Daniel cell by taking combination of different half-cells.Name

the anode and cathode of the Daniel cell.

Watch Video Solution

123. Innumerable number of galvanic cells can be constructed on the

pattern of Daneill cell by taking combination of different half cells. Write

the name of the half represented by Pt(s)/H_2(g)/ H^+(aq)

Watch Video Solution

https://dl.doubtnut.com/l/_Iv77MHUTl1Iv
https://dl.doubtnut.com/l/_J7b09nkbPOZ4
https://dl.doubtnut.com/l/_XyYd9GWwEFOU
https://dl.doubtnut.com/l/_BrKhg7hsx6Mb


124. For the given cell , Mg I II Cu^(2+)I Cu identify the correct

statement given below.

A. Mg act as cathode

B. Cu act as cathode

C. The cell reaction is 

D. Cu is the oxidising agent

Answer:

Watch Video Solution

Mg2+

Cu + Mg2+ → Cu2+ + Mg

125. The device in which chemical energy is converted into electrical

energy is called ___.

Watch Video Solution

https://dl.doubtnut.com/l/_BrKhg7hsx6Mb
https://dl.doubtnut.com/l/_xBmFGc1LrIje


126. Two electrode A and B have standard electrode potential of -0.76V

and 0.34V resprctively. Identify the oxidation and reduction electrodes, IF

they are coupled to form a cell.

Watch Video Solution

127. Two electrode A and B have standard electrode potential of -0.76V

and 0.34V respectively. Find the standard cell potential of the cell formed.

Watch Video Solution

128. Commercial cells can be classified into primary cells and secondary

cells. Explain them by giving one example each.

Watch Video Solution

129. Fill in the blanks: ________ with increase in temperature.λm

https://dl.doubtnut.com/l/_0Or9LWSrMrs3
https://dl.doubtnut.com/l/_BqjoCbvB9P3U
https://dl.doubtnut.com/l/_pZQob1aiYHFf
https://dl.doubtnut.com/l/_pPT8NGVfeLj1


Watch Video Solution

130. Fill in the blanks: Conductance of electrolyte________ with increase in

temperature.

Watch Video Solution

131. Rusting of iron is quicker in saline water than in ordinary water . Give

reasons

Watch Video Solution

132. Corrosion of iron occurs in the presence of moisture and oxygen and

presence of  ions.________ and saline water increases rate of corrosion

of iron.

Watch Video Solution

H +

https://dl.doubtnut.com/l/_pPT8NGVfeLj1
https://dl.doubtnut.com/l/_tdT3jTJi4Wmz
https://dl.doubtnut.com/l/_aBqy2aHdqD9R
https://dl.doubtnut.com/l/_7ZJr9ABEhOJ6
https://dl.doubtnut.com/l/_lwO33r7w5Dno


133. In class room , the teacher has explained the quantitative aspects of

electrolysis by stating the Faraday's laws of electrolysis. Explain the term

electrochemical equivalent.

Watch Video Solution

134. In a classroom, the teacher has explained the quantitative aspects of

electrolysis by stating the Faraday's laws of electrolysis. 

Calculate the quantity of electricity required to deposit 0.09 g of

aluminium during the following electrode reaction: 

Watch Video Solution

Al3 + 3e− → Al(Al = 27u)

https://dl.doubtnut.com/l/_lwO33r7w5Dno
https://dl.doubtnut.com/l/_NM2X2PwBHgMf

